
Type: goroutine
Time: Sep 9, 2016 at 9:07am (CST)
1850 of 1851 total (99.95%)
Dropped 31 nodes (cum <= 9)

runtime.gopark
1849(99.89%)

runtime.goexit
1(0.054%)

of 1851(100%)

bitbucket.org/sjtushi/comet/vendor/github.com/googollee/go-engine%2eio.(*serverConn).pingLoop
0 of 615(33.23%)

 615

bitbucket.org/sjtushi/comet/vendor/github.com/googollee/go-engine.io/websocket.(*Server).serveHTTP
0 of 615(33.23%)

 615

bitbucket.org/sjtushi/comet/vendor/github.com/googollee/go-socket%2eio.(*Server).loop.func1
0 of 615(33.23%)

 615

bitbucket.org/sjtushi/comet/vendor/github.com/googollee/go-engine%2eio.(*serverConn).NextReader
0 of 615(33.23%)

runtime.chanrecv1
0 of 616(33.28%)

 615

runtime.selectgo
0 of 615(33.23%)

 615

bitbucket.org/sjtushi/comet/vendor/github.com/gorilla/websocket.(*Conn).NextReader
0 of 615(33.23%)

 615

bitbucket.org/sjtushi/comet/vendor/github.com/googollee/go-socket%2eio.(*socket).loop
0 of 615(33.23%)

 615

bitbucket.org/sjtushi/comet/vendor/github.com/googollee/go-socket%2eio.(*decoder).Decode
0 of 615(33.23%)

 615

 615

bitbucket.org/sjtushi/comet/vendor/github.com/gorilla/websocket.(*Conn).advanceFrame
0 of 615(33.23%)

 615

bitbucket.org/sjtushi/comet/vendor/github.com/gorilla/websocket.(*Conn).readFull
0 of 615(33.23%)

 615

bufio.(*Reader).Read
0 of 615(33.23%)

 615

bufio.(*Reader).fill
0 of 615(33.23%)

 615

net.(*conn).Read
0 of 615(33.23%)

 615

net.(*netFD).Read
0 of 615(33.23%)

 615

net.(*pollDesc).waitRead
0 of 617(33.33%)

 615

net.(*pollDesc).wait
0 of 617(33.33%)

net.runtime_pollWait
0 of 617(33.33%)

 617

 617

runtime.netpollblock
0 of 617(33.33%)

 617

runtime.chanrecv
0 of 617(33.33%)

runtime.goparkunlock
0 of 617(33.33%)

 617

 616

 617

 617

runtime.selectgoImpl
0 of 615(33.23%)

 615

 615


